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22 - 501 EEEE 22 - 502 FEE 22 - 502 #FHEE
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[%7kiH4] 01 - 00 [%7kiH4] 01 - 00 [%7kiH4] 02 - 00

R KIS FHFIKG MRE KIS

BEIER KiE&] KiE&] KiE&]

RREUKHF XENIKRKE XENIKRKE

[FRknDiEE] [FRknDiEE] [FRknDiEE]

FIHFK CIN oo CIN oo

[1 B FEyEkE] 15,691 (M) |[1 B FE#%KE] 56,868 (m) |[1H F1#i%KE] 22,741 (m)

Rk Rk Rk

= =K Ty E1%k == =K Ty E1%k = &I Ty E1%k
TUFEVRUEDIEEY <00002 <0.0002  <0.0002 4 <00020 <0.0020  <0.0020 12 <0.0020 <0.0020  <0.0020 12
ISV RUZDIEEY <0.0001  <0.0001  <0.0001 4 <00002  <0.0002  <0.0002 12 <00002  <0.0002  <0.0002 12
ZITWRUZDIEEY <0001  <0.001 <0.001 4 0005  <0.002 <0.002 12 0.003 <0.002 <0.002 12
1,2—HhOnIsYy <0.0004 <0.0004  <0.0004 4 <00004  <0.0004  <0.0004 12 <00004  <0.0004  <0.0004 12
MLTY <0020  <0.020 <0.020 4 <0040  <0.040 <0.040 12 <0.040 <0.040 <0.040 12
THVEEY 2—IFILAFIIL) <0005  <0.005 <0.005 4 <0008  <0.008 <0.008 4 <0.008 <0.008 <0.008 4
BIE R
ZEibiE R
yhnaye k=L
fakons—-)L
BEE <0.10 <0.10 <0.10 2 <0.10 <0.10 <0.10 4 <0.10 <0.10 <0.10 4
BEER
St R 35 26 30 4 40 <20 30 4 50 <20 30 4
1,1,1—kyboaIsy <0001  <0.001 <0.001 4 <0030  <0.030 <0.030 12 <0.030 <0.030 <0.030 12
AFI—t—FFII—FI(MTBE) <0002  <0.002 <0.002 4 <0002  <0.002 <0.002 4 <0.002 <0.002 <0.002 4
BRMEGRIVI VBN LEER) 0.3 <0.3 <0.3 4 30 2.1 2.6 4 35 19 26 4
R5GAE (TON) < < < 4 < < < 4 <1 <1 <1 4
EREGYTUTIEER) -1.1 -1.3 -1.2 4 -0.8 -1.3 -1.1 4 -1.1 -14 -13 4
HEREAE 230 0 60 4 1700 410 1035 4 3400 390 1458 4
1,1—9hO0IFLy <00020 <0.0020  <0.0020 4 <00100  <0.0100  <0.0100 12 <00100 <0.0100  <0.0100 12
JKig(°C) 16.4 15.6 16.1 12 245 46 149 12 245 53 148 12
PUEITREER
EYLFRIEERERE(BOD)
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FAEME(SS)
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22 - 502 EEEE 22 - 502 FEE 22 - 503 MR

B4R 2 GEIM) B4R 2 GRIM) B2 (B E)

[%7kiH4] 03 - 00 [%7ki54] 04 - 00 [%KZE] 01 - 00

#RHF KIS FHEKG o Bi%Ki5

BEIER KiE&] KiE&] KiE&]

XEI)I, &I ABINIKFRAEN FEINKRARBI

[FRknDiEE] [FRknDiEE] [FRknDiEE]

CIN: G SN G KK (BR)

[1 B FEyEkE] 72,351 (M) |[1AFEHEKE] 26,726 (m) |[1 B F#%KE] 35,446 (m)

Rk Rk Rk

= =K Ty E1%k == =K Ty E1%k = &I Ty E1%k
TUFEVRUEDIEEY <0.0020 <0.0020  <0.0020 12 <00020 <0.0020  <0.0020 12 <0.0002  <0.0002  <0.0002 4
5V RUEDIEEY <00002 <0.0002  <0.0002 12 <00002  <0.0002  <0.0002 12 <0.0001  <0.0001 <0.0001 4
Z9TWRUZDIEEY 0005  <0.002 0.002 12 0007  <0.002 <0.002 12 <0.001 <0.001 <0.001 4
1,2—HhOnIsYy <0.0004 <0.0004  <0.0004 12 <00004  <0.0004  <0.0004 12 <00004  <0.0004  <0.0004 4
MLTY <0040  <0.040 <0.040 12 <0040  <0.040 <0.040 12 <0.020 <0.020 <0.020 4
TRINEEY 2—IFIAFIIL) <0008  <0.008 <0.008 4 <0008  <0.008 <0.008 4 <0.005 <0.005 <0.005 4
BIE R
ZEibiE R
yhnaye k=L
k05—
BEE <0.10 <0.10 <0.10 4 <0.10 <0.10 <0.10 4 <0.10 <0.10 <0.10 2
BEER
St R 50 20 40 4 40 20 30 4 35 26 31 4
1,1,1—kJoonIsY <0030  <0.030 <0.030 12 <0030  <0.030 <0.030 12 <0.001 <0.001 <0.001 4
AFI—t—FFII—FI(MTBE) <0002  <0.002 <0.002 4 <0002  <0.002 <0.002 4 <0.002 <0.002 <0.002 4
BRMEGRIVI VBN LEER) 8.8 40 5.7 4 32 1.7 2.2 4 <0.3 <0.3 <0.3 4
R5GAE (TON) < < < 4 < < < 4 <1 <1 <1 4
EREGYTUTIEER) -0.9 -1.1 -1.0 4 -0.9 -15 -1.2 4 -1.2 -1.3 -13 4
HEREAE 69000 230 19108 4 6000 960 3515 4 620 26 314 4
1,1—9hO0IFLy <00100 <0.0100  <0.0100 12 <00100  <0.0100  <0.0100 12 <00020 <0.0020  <0.0020 4
JKig(°C) 26.4 6.2 16.7 12 245 6.2 16.3 12 16.1 140 15.3 12
PUEITREER
EYLFRIEERERE(BOD)
LB R ERE(COD)
L5 RUV)IR A FE (50mm 2 )L 43 R B )
FAEME(SS)
BRI R
LEHR
DV
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22 - 505 ERMEE - _
RHFINEEKER X
[%7kiH4] 01 - 00 (% 7Ki54] - [KiZ4E]
HEHRKSE
BEIEH [kiE%] [kiE%] [kiE%]
RHFNKFRKHFIN
[FRknDiEE] [FRknDiEE] [FRknDiEE]
CIN; ik
[EEHEKE] 102,866 (m) |[18 F#i%KE] (m) [NAFHHEKE] (m)
Rk Rk Rk
= =K Ty E1%k == =K Ty E1%k = &I Ty 1%

TOFEVRUZDILEY <0.0002 1

DIVRUEDILEY <0.0001 1

2TV RUEDIEEY <0.001 1

1,2—9bOnIsy <0.0004 1

LIV <0.020 1

TRIVEES 2—IFIAFVIL) <0.005 1

iR

ZEibiE R

Jhoo7e b= bk

k05—

BEE 0.00 1

HBIER

picd 3o <2.0 1

1,1,1—kJoonIsY <0.001 1

AFI—t—TFII—TIL(MTBE) <0.002 1

BEHMEGRIVAVENILEES) 14 1

R5GAE (TON) <1 1

EREGYTUTIEER) -0.9 1

HEXEMRR 9300 1

1,1—ybonIFlby <0.0020 1

JKiE (°C) 21.0 5.5 13.2 365

PUEITREER

EYILFHIEERERE(BOD)

{LZ B R ERE(COD)

L5 RUV)IR A FE (50mm 2 )L 43 R B )

FEYE(SS)

BRI R

L2ER

DV

VIBRAAY

RUNOAS D BRE

£ (n/ml)

FIVHVE 415 236 34.1 243
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